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2AM: DES
Bu: F0l #F MO SR (DHS)
Sl ARD FOUSAAL CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
THoH Ofl & = =2 Ab Y 76,000 56,000 20,000
101 @14 Hl 36,000 36,000 0
04 JIZHHZ2XNEE S 36,000 36,000 0
O DEE EHI AR
150,000 x 10«12 »23] 36,000
401 AIEHIZL 2 0] 40,000 20,000 20,000
03 A2 2 THHI 40,000 20,000 20,000
O Mollog & =237 FHIX= 40,000
A2 FU=RAY 38,000 18,000 20,000
206 M= Hl 3,000 3,000 0
01 T2l 3,000 3,000 0
O 28 N4 sX2e Hz7g 3,000
401 A& BIZ 201 8] 35,000 15,000 20,000
01 Al g 35,000 15,000 20,000
O AnE2E8sS=-Hl 35,000
cIotR XA 23 477,520 448,490 29,030
SCgEEsSEY 477,520 448,490 29,030
301 LA F 477,520 448,490 29,030
05 8% -0 -tHESEH3 477,520 448,490 29,030
O ol 463,320
-Jl2=¢ 300,000& 99 x12& 356,400
-&0=s 300,000& *99H x200% 59,400
-3 FA+H 20,000 x99H «23| x12& 47,520
O gr& 50,0003 *284H « 13| 14,200
WHEE MaEd =4 252,085 211,034 41,051
CEHEZE 85,220 60, 020 25,200
101 @124l 50,320 45,120 5,200
04 D12t Z22HEE = 50,320 45,120 5,200
O F2 T2Y ZHIJ| At
150,000 16 x5 33| 36,000
O 2YHH Fb ESHA L xR
100,000 =10 x4 4,000
O DFICEEY S22l 2224, M=H
g o=y 80,000 x5 H »32 53] 6,000
O &5 AMX 2401 € 2 EH =R
80,000 x5 H »32 23| 2,400
O AIJHX Bi=2012e 8
80,000 »2H 22! 63| 1,920
206 = Hl 14,900 14,900 0
01 MHZ 4l 14,900 14,900 0
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O AMIX HAIE EAxEE 7Y
7,000& x7004 4,900
O AJEX HAIE EH=01 8 7Y
25,000 =804 2,000
401 A2 B2 20 HI 20,000 0 20,000
01 A& HI 20,000 0 20,000
O 1N&s 8 288 &4 20,000
-2 238 T4 5,000,000& *3J4 4~ 15,000
-ZEZE L F=HHY| 1,666,666& x3I4 4~ 5,000
OhAH &< &2 29,970 29,733 237
101 @121 13,161 12,924 237
04 JI2ZtH 22 XNHEE =+ 13,161 12,924 237
O StHYES A5 13,161
-8y 19,0003 *3Al 2t x2H x87 9,918
-4 57,000& *»2H x 17 1,938
-88= 11,856,000 *11% 1,305
201 L2 9| 500 500 0
02 352494l 500 500 0
O g9 &l =2l 500
206 M= Hl 16,309 16,309 0
01 &2 bl 16,309 16,309 0
O otHEY - A= 88 2 16,309
HAEHE &bl 42,167 26,553 15,614
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O ¥=g=L gRFAS 28 A7 A 22
Hl 250,000& 1201 & 3,000
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Jl=23 bl 198,852 182,623 16,229
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201 LEr2 Y| 96,092 83,823 12,269
01 AR 22| bl 54,692 49,692 5,000
O BASYGS /s AFR22l ] 54,692
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O YAFAN U3 L 2A2/H S
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202 (4] 89, 100 85,260 3,840
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O EHNYI 220,000 *32H x12& 84,480
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O NsE 583,333& x12& 7,000
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A2 FO0U=RAAY 20,000 10,000 10,000
401 AlEHIZL 2 0HY| 20,000 10,000 10,000
01 Al& H| 20,000 10,000 10,000
O A2 S22 MY 20,000
MoK =ERALS 30,000 15,000 15,000
401 Al HI L 2 0HHI 30,000 15,000 15,000
03 Al&E 201 Y| 30,000 15,000 15,000
O Mooy & =320 e UYL= 30,000
2l .ot XA 29 172,430 172,430 0
SclttaE s A2 172,430 172,430 0
301 et M= 172,430 172,430 0
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O ol&2¢ 168,480
-Jl2s+% 300,000 x36H x12& 129,600
a2 300,000 *36H *23| 21,600
— 3ol E A At 20,000 & x36H *x23| x12& 17,280
O Bra 50,000 *79H % 13| 3,950
S EE A XS 153,843 55,888 97,955
s B S 27,300 23,000 4,300
101 e1214| 25,000 23,000 2,000
04 J|12ZtHIZ22NEES 25,000 23,000 2,000
O FzzH EHI sFAFSFEL
150,000 15 x5 5555 %23 25,000
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01 =4l 2,300 0 2,300
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SEg 4T MEH 2Y
300,000 x 14! 300
ol A gt a2t 13,081 12,962 119
101 Q124 H| 6,581 6,462 119
04 JI2ZtHIZ22NEES 6,581 6,462 119
O stHgtss0Ie
19,000 *3A| 2+ 1«87 4,959
O =524 57,000 x 1«17 969
O golss0s B8R 293
5,928,000 *11% 653
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QI ALY (OF AR ) 272,601 243,482 29,119
AR EFU=SJAAY 50,000 30,000 20,000
A2 AY 20,000 10,000 10,000
401 Al HIZ 2018 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
O Al 8827 A 20,000
THOH Ol 24 = 2 AH 30,000 20,000 10,000
401 AIEHI L 2] 30,000 20,000 10,000
03 Al 2 THHI 30,000 20,000 10,000
O MoHolegr & =370 OE FHIEXZ 30,000
clot® X229 158,690 158,690 0
SclgtE2d 158,690 158,690 0
301 LA F 158,690 158,690 0
05 S& -0 -EtEE2s28= 158,690 158,690 0
O o Jlese 300,000& *33H x12& 118,800
O & &= 300,000& *33H x200% 19,800
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301 LPEAZF 187,270 187,270 0
05 8% -0 -tH¥ESE4S 187,270 187,270 0
O ol 182,520
-JlE=g 300,000& *39H x12& 140,400
-d0= 300, 000& *39H x200% 23,400
-3 FEAE 20,0003 39 «23|«12& 18,720
O Bt 50,000 x95H 13| 4,750
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TH ol Ol & = 32 ALY 30,000 20,000 10,000
401 A& HIZ 201 8] 30,000 20,000 10,000
03 A& S THHI 30,000 20,000 10,000
O Mofloe & =70 OHE FHIPXU= 30,000
A8 FU=SFAY 20,000 10,000 10,000
401 AIEHI L 20 20,000 10,000 10,000
01 A& tl 20,000 10,000 10,000
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